ITI Refrigeration and Air Conditioning Technician 2nd Year Module 6
Visible cooler Deep freezer Display cabinet and Ice cube machine

(1). What is the reason for melting of ice cream in storage plant? | HSRU I H

TSI &b AT BT T BRI 52
(A) No air flow | :ﬁwtﬁﬁ

(B) Poor insulation | JaR $~gIXM
(C) Poor heat transfer | JaR TH g&IcRUl
(D) Low ambient temperature | ®H Hﬁ'Q_C'HTCITIF[

Correct Answer : B

(2). What will happen while cut off micro-switch is faulty or wrongly adjusted in

ice cube machine? | If¢ Wa@ﬂﬁﬁ:{ﬁ He-3HhH HI%QO\I-%?[M%W
TAd dRie O JHANIA fbam T @ g

(A) None of the electric supply work | GI‘J\ISr i) f&qu @ﬂ'q;ﬁdvlif:l_spf hRdl
(B) All the electric parts work | g fooel & TR FH HRA &

(C) Only compressor work | Had HUTR BTH Bl %

(D) Relay will not work | R B :I_sgfcb?{‘ll

Correct Answer : A

(3). What is the cause of only a sheet of ice forms in pan of ice cube machine |

3T T AR & U7 H had 9% BI A1GR I BT 1 HRUT g2
(A) Moisture in the system | e |/ 94
(B) Agitator motor faulty | gforeer Hiek WRId




(C) Thermostat faulty | YAReT TR
(D) Water supply turned off | qﬁﬁmaﬁ'mﬁ

Correct Answer : B

(4). What is the reason for water sweating on outer cabinet of bottle cooler? |
SIdd HeR &b T8 Bia-e W UM & THH &1 HRUT 1 87

(A) Poor insulation | Ydr ‘é“{:l(}i-?l'-l

(B) Good insulation | 1[S 5*{1@1-‘2%1

(C) Condenser block | HSTIR IP

(D) Compressor is not working | G'I’JCI{-N hTH :Iﬁcbi RGl %

Correct Answer : A

(5). What is the part marked as X in ice cube maker? | mmgﬁmﬁx%m

A fafgd T 8?

(A) Water pan | UIEICAKCRE]
(B) Water pump | U= &1 g

(C) Float valve | Tdlc dled
(D) Water header pan | q’Fﬁ%@Ta:f



Correct Answer : C

(6). What is the advantage of upright freezer when compared with chest freezer?

| IRTST HIoR P JaT H e IR &1 1 BRIST 82

(A) Easy to install | S-HCTcT AT AHTHIA

(B) Easy food removal | 3{THIH HIo fHebTe
(C) More space is required | WWﬁ GHWT%
(D) Less power consumption | fooTelt @t U Wud

Correct Answer : B

(7). Which level of vacuum is recommended for deep freezer before gas charging?

| TG =TT 9§ Ugel S1U TBToR o fofg dergd o fobq &R 1 F1iva 1 Wil &2
(A) 500 microns
(B) 150 microns
(C) 1000 microns
(D) 2000 microns

Correct Answer : B

(8). How to over come problem of frosting on ice cube machine evaporator? |

3T T HRMH ZAURER R BIRST &1 HWT ¥y (Hae?
(A) Unloadingice cube | 3 H]d AlS HRATdG DY

(B) Reducing refrigerant | ITboINe HH HIAT

(C) De-frosting | SRR

(D) Using mixing refrigerant | fafeRiTT Yfhoie &1 STt &




Correct Answer : C

(9). Which gas is used for leak testing of deep freezer before evacuation? |

R A ugd S1U WioR & Rara uiafur & fort i T o1 IuanT foham Srd
o?

(A) Dry oxygen | E@:TGI}I’T?I'\E‘:]G:T
(B) Dry nitrogen | @T:IIEEJGI:I

(C) Liquid nitrogen | dXd ATSCISH

(D) Carbon tetra chloride | q>|@T4 c\igldﬂ\lil‘és

Correct Answer : B

(10). Which type of bottle cooler gains the minimum heat during door opening? |
TSl WIT & GRM ¥ UHR B SIdd SR YAdH TH U1 HRl 82

(A) Vertical | &Sl

(B) Horizontal | &fcret

(C) Left side open | TUC HIZS T
(D) Right side open | J13C 1SS 31U

Correct Answer : B



(11). Which one indicates evaporator fan in figure? | ICEE:CARK:!! s‘aldliaz b
DI AT 8?
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(A) 2
(B) 1
(C) 4
(D) 3

Correct Answer : B

(12). Which one part of visible cooler is normally made of stainless steel for long
life and easy maintenance? | @d Sita 3R 3R IW\IWIG & o8 TXIH HER
1 B T BT 3MHAR IR WY W I 18Il 82

(A) Outer casing | 33X BT
(B) Evaporator | s‘a'rthia

(C) Innerliner | YR dIg-R
(D) Door frame | §Tﬁv‘q




Correct Answer : C

(13). Which part of hermetic compressor, the refrigerant is charged in deep

freezer? | SHICH HUTR BT HI IT fgw, Apoie I S hieR | =7o] fopar
SIa1 82

(A) Liquid line | dX¥cf clgd

(B) Process tube | mag
(C) Accumulator | QWET
(D) Capillary tube | BTRIHT el

Correct Answer : B

(14). How much vacuum can be achieved in refrigeration system by three stage

vacuum pumps? | B SSEIN acl'ljj-l ﬁﬁ?{lﬂ%@ﬂi’ﬁlﬁ Req # fooa adglj-l
TG fodT T bl 62

(A) 200 Microns
(B) 500 Microns
(C) 10 Microns
(D) 20 Microns

Correct Answer : C

(15). Why the space between the two layers of glass door is vacuumed in visible
cooler? | & BT & GRATS DI &l TRA| b §1d BT I EGHM Hek | dagH
o SITeTT 82

(A) Stop reflection heat | yfafde 7 §¢ B

(B) Stop conduction heat | dlcddq I CARIGY




(C) Prevent radiation heat | fafas<or 7 31 b
(D) Prevent convection heat | Wﬂﬁfﬁ%

Correct Answer : D

(16). What is the reason for “the ice cube machine does not stop” though the bin
is full of ice cubes? | 33 TIF TR &G o] B! g P (o7 T HRUTE,
gTdifh o 9% & gahel § U 87

(A) Faulty relay | Wﬁa
(B) OLP damaged | OLP AIGPES]

(C) MCB is ‘ON’ always | MCB BURIT‘ON’ BIdT &
(D) Defective micro switch position | WWWW

Correct Answer : D

(17). What is the advantage of using two stage rotary vacuum pump for

evacuation in deep freezer? | S1U WhIoR H T o ford &1 TRUI AT éaqqqu
BT SUUNT B BT R BRI &7

(A) Compact | Y-

(B) Less noise | HHA YR

(C) Maintenance is easy | XGXd[d &N'I:f%

(D) Obtain deep vacuum level | @WWﬁWﬁ

Correct Answer : D

(18). What is the purpose of having high relative humidity (90%) in deep freezer?

| SIU TBToR H I HIUE TS (90%) 17 BT T 3= 62
(A) Prevent food shrinkage | aézvﬁ ol



(B) Storing for long period | Kl m%%’q HSRU
(C) Preserve colour | UG B
(D) Avoid odour | Ty ad

Correct Answer : A

(19). What is the advantage of bottle cooler whose evaporator coil winding kept
inside storage tank? | SIcd HAR BT T BIUG] %WWWﬁ
TR ¢ & 3 QT SI1d1 8?

(A) Bottle cooling fast | Waﬁﬁﬁﬁﬁw
(B) Space more | G{WW

(C) Cleaning easy | HWI‘&C\}IIHH
(D) Carelessly can handle | WQWW

Correct Answer : A

(20). Which commercial refrigerator has single or multi door and evaporator coils
usually installed in the top or rear inside of the cabinet? | foyg arfiifcus
fThoiver H R a1 Aee] SR 3R SAURCE Higd AR W Hia-e & HUR AT

7o & SR SR 8Id 82

(A) Upright freezers | URISC Th1olR

(B) Chest type freezers | I GEE ThiolR

(C) Reach in refrigerators | ?{Eb\ﬂ\idﬁ f[ uga
(D) Display cages | ﬁmﬁ

Correct Answer : C



(21). Which valve allow fluid flow in only one direction It is used in the vacuum
pumps to prevent the entry of air/ moisture into system during interruption? |

P 1 dled had U (G H 9 YdTg B SHG &l § SHHT SUINT dagH Uyt
H SepIae P SR RcH H ga1/Ht & U ol b & o fhar Srar g»

(A) Plug valve | W died

(B) Gate valve | TIe dred

(C) Hand shut off valve | BTQH?TEI'_C{G'IQ'_G'
(D) Non Return Valves | 11 e areg

Correct Answer : D

(22). Where is the evaporator and fan motor located in commercial visible cooler?

| AT T<T BeR H SaTgReR 3R U &) HieX Bl fRUd Bl 22
(A) Right side | GTfg-iT 3R

(B) Bottom side | FiId &I 3R

(C) Back side | UT&S &1 31X

(D) Top side | XMY &I 3R

Correct Answer : D

(23). Which type of bottle coolers are classified as direct expansion type bottle
coolers? | fhd TR o dicd Bk Bl U [aIR YhR & dicd SRk &b =u d

Fifferd foram man 82
(A) Factory | PRM[AI

(B) Industrial | Gﬁ@ﬂm

(C) Domestic | ‘Eﬁﬁ
(D) Commercial | GRS IRED




Correct Answer : C

(24). What is the advantage of flake ice over cube ice for preserving foodstuff? |

AT YTl & TREf0T & folt TIF I TR Wi atb &1 31 BIIGT 62
(A) More weight | 3{f9& aoiq

(B) Less contact with food | IS & TTY HH JUPb

(C) Little food is preserved | UTST ol WM& &

(D) More contact with foodstuff | 3Tl U&Tdf & 1Y 3ffYeh U

Correct Answer : D

(25). What is the operating condition of condenser fan motor if compressor motor
is stopped by thermostat in water cooler? | 3R HoI9X HICI Bl dic Wff
YT GRT §¢ B [T ST 8 Al Ho-TUR U HIex & SHoRfeT Rufd o gt
g?

(A) Stops | aﬁﬁ\?ﬁ'ﬁ%

(B) Working continually | ¢ITTIdIR pIH hR Q_sgf%
(C) Trips on pressure switch | E'qa_@lﬁ%ﬁ
(D) Trips on over load protector | E’q MR AS

Correct Answer : A




